W TV YVUN VP 1 DIN’D NI2ION 1NN PNINS

NNNINNN VIV .1

P ON 1290 NN A NYI0N ,NRYINNND VIVYN 295Y NI TPYRI NN (K) .2
INYIN2 NN ID DD DDA MMV PR NOY IR MHINTHN NN DX
oY AWAN Nyd NN A - B ox P ox m»an 0 A, B myonv
N9 A2 1991 Non 89 A N Doar N v CF(A) Y O TNN T80 .mopa
nwvw v CF(A?%) 9 or nv 180 .00ar nv v CF(A?) 9 199 non

200098 NN W CF(A) 9 199 n2on X9 A 1991 n>on KO A% W 00N

nP* 15990 (2)

001 00
00 010
A= 0 0 0 0 1
00 0 00
00 0 00

MY onv pr1a 13 vy CF(A) = A 9 mamp mmTm 1315 o0 A

5N DYDON

A? =

o O O O O
o O O O O
o O O O O
o O O O =
o O O = O

VISw W A? 2 9a8 CF(A2%) = A? 995 momp maTm nYaon oy v

O0ON MY

ATINY 990 VAN 29 A - A = 0 M A% = 0 v nDHvA M NN ()
NTINnY
Ci(A- A) = AC;(4A)



i

Ria) ]

PN
Ci(A) e N(A)

INDD MNP D D) 199 LA DY DAND anIna NN A S Ry 95 >

199) DANN 2NN KDY MY SV

C(A) € N(4)

V991

rank A = dim C(A4) < dim N(A4)

(MPIVNI5 MVTN VAVYN) NINNINNN VIYN 295 10 MO

rank A + dim N(A) =5

120 (MY 5 v 1OY NNIVNI D)

dim N(A) =5 —rank A

92P) OTIP NODVPY 1PNV ORI NNT DN ON

rank A <5 —rank A

2rank A < 5

rank A <

DO | Ot

Y NN DY N IN 0YY 19010 N0 rank A v nvn YaN

rank A < 2



v MY NPNoa

rank A > 2

rank(AB) < rank A,rank B v 0»pnn rank Yy vawn v9Y N> (T)

N A = B nnpo avaN 1ov napna
4 = rank(A?) < rank A

N rank A =5 DN 9aN .5 N 4 WX rank A 2y NMIVAN MY P v 10Y
TN MIYOND 199 .NPNoa rank A2 = 5w noan A% o nyan A
N INNY

rank A =4
2Ny M

9aR u # 0 9 Tv # v PN 2aY uw=Tv — v YOI NN .3
T(u)=T(T(w)—v)=TT(v)—T(v)=T(w)—T(v)=0

A

1 0 3
A=1 2 1 5
-1 2 =5

PYIA NP AN A MTmy SY oINS s NN | 1 | o pand s (8)

a
NOYNY NINS W TUND

Az

I
—



9730 NOAYNY (TAX MNAY) PIND ¥ @ 299y IPND 7172 IN

1 0 3|1
2 1 5|1
“1 2 -5|a
29T
1 0 31 1 0 3|1
9 1 5 1 Ra=R>—2R; 0 1 -1 -1 R3=R3+R1
-1 2 —-5|a -1 2 —-5]| a
10 3] 1 10 3| 1
0 1 —1| —1 |82 g 1 1| 1
02 —2|a+1 00 0 |a+3

JONON N .a = —3 Y TN DPND NN PN KOV 1D

MY YNID VIV IWAN IN .Y 2NN DX MIYHN XD NN1IY MDY »Ia (2)

1
bp T Y . 1 NN NOvY MTMYyN DNXY NNIVND VIV TY NV
1
1 0 3 1 0 3 1 0 3
2 1 5 | o 1 o [ 1 9
1 2 -5 1 2 -5 1 -2 5

NN GOIND MOV DXANINN NN INNY INTI ,TINPNY THM) 002 NISNY 15 (3)

YTHN P VAN 2NN NIAY NNYOD MNNYN NIWYN OV
N(A)={z €R?| Az =0}

NoIWNRN T DY ININND DAND ANIN MDD



r+32=0
20 +y+52=0

—x+2y—5z=0

DIPINON 1Y W HAN .DNOPY NI YW span D 1Y PN XKPNT MTYN 00

MINNYN NOYN SV PN IMN N 13D IWIRNDY

3 | x 1 0 3 T
5ly | T 01 1|y | TR
-9 |z -1 2 -5 z
3 T 1 0 3 T
Ay 2w [ TR 0 1 ] g2
2| z+=x 0 0 0 |z+bx—2y

W IS NOTYNY PINS Y 0T Yon Toa

5z —2y+2=0

C(A) N N(A) anmn ,pwdy . MTnyN AN DR DINNDY IRNYHNN NND

MY YN MNNYNN YD IR DIM]Y DNOPIN GOIN NN

r+32=0
20 +y+52=0
—x+2y—52=0

or—2y+2=0

YT Oy PNIAND OT DY D390, NMININON ANTIN NN N¥N) T DDA NINID 1D



NNIVNN DY NPT

1 0 3
2 1 5
-1 2 =5
5 -2 1

D9V OYNYS I2D NYYNY IPYY MNYRIN MY 3 DY NPTN NN

NP Y M2 ,000TPn

1 0 3
0o 1 -1
0 O 0
5 =2 1
NON NN XTI
1 0 3 1 0 3
0o 1 -1 Ra=Ra~5R; 0 1 -1
0 O 0 0 O 0
5 =2 1 0 -2 -—-14
1 0 3
Ry=Ru42F> 01 -1 Ryt By
0 0 O
0 0 -—-16

o o o r
o o = o
|
—_
o

TR PINON 1991 DPYNN DHINYN PR IINTHN NN, MIPA DN 10D
0 0
m {] 0 [} x proon C(A) N N(A) anmn M .| 0 | NN

0 0
. NPIN NNAPN NN 1oAY 0 TN ann

55 NY NI NYY MTINYN 2NN D) 129N KO NN NN A v 125 1R ()



o) 29 (R3
b 3 4
1 0 -1
2 2 b-—1

MIAPY 9192 Nt PR ARIN DNIN XITI,ND20N R NNIVN NPND NN

b3 4 10 -1
10 1 R1_<—>1>%2 b 3 4 Ro =R_2;bR1
2 2 b1 2 2 b1
10 -1 10 -1

—Ra_ R3=R3—2R
0 3 44b | TS 0 3 4y [T
2 2 b1 0 2 b+l

10 -1

0 3 4+b

0 0 b+1—2(4+b)

IN .DDON NNV AN MNTO NNV TIY N0 NI 7PAN NPIONNY 71D
v Y

2
b+1-3(+b)=0

3b+3=8+2b
b=5
N2IVNN NIND
PN 290 (N)
a b ¢
d e f|=0
g h i



PN

135V OV O PYOY

e d d e
d e f|=a f +b f + 2c¢
h 1 qg i g h
g h 1
d d d d
=b f —c ‘ +b ! + 2¢ ¢
g i g h g i g h
d d
=2b / +c ¢
g i g h
d e f 0 2b —c
0 26 —c|=—|d e f
g h i g h i
d d
B .
g i g h
d
=2b ! +c ¢
g 1 g h

2PNV W NNNA 1O

IMIY NYIWaND rank A # 3 1991 229N KXY A NYIVNNY IO HINNX 92D (3)

v P N w0 A =0 wrank A =0 ox ,pwoy rank A € {0,1,2} 0

PN
rank A € {1,2}

ON) TPINYD TSN N¥IVNI MMV NV Y5V 9N Mt rank A = 1 oX vy



DNOPIN ,0I92 (2 MNAY PN MNMVYN AN TN IR DN MNY PNV P

(a,b,¢),(de, f)

Y T0 «, 8 ¥ YD IINYDY 09N DN

aa,b,c) + B(d,e, f) =0

D) N
ala,b) + B(d,e) =0

P9 NS 09N (d, e) 1 (a,b) DY M

NN NOINNIY DTN MAIVOND .NPN01

rank A =2
NXAVNNY 72D OYTY NNIN
a b c
A=\|d e f
g h 1

b ¢ a c b
g —h +1 =0
e f d f d e
v nrn
a b
=1
d e
Y IMIN M
b ¢ a c
i=—g h



2095 W NN9Y .t = § N ,N29N NN

g —h +1
e f d f
b ¢ a c
g —h
e f d f
b c
t=—g
e f

S

ONY N1 NNIN PYIY

NAINN MY

PN

Rl



